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CBSE Class 10 Science Sample Paper SA 2 Set 8

Sample Question Paper
Science
Class— X (SA-11)
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General Instructions :

(i) The question paper comprises two sections, A and B. You are to

attempt both the sections.
(i) All questions are compulsory.
(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to

be attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

(viii) Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in

brief.
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A=A
(SECTION-A)

1. 39 GHSTAE 207 o 98t 31 9ewl o 1U-§3 TR fSmeh yehmricaeh
g —C12 | 1

Write the molecular formula of first two members of homologous

series having functional group —Cl.

2. IFRa uifeafadt ¥ wrsimrsr o e oty @ am fafae | = fafy
<AfiTeh B Tan 3cifire ¢ 1

Name the method by which spirogyra reproduces under favourable

conditions. Is this method sexual or asexual ?

3. uia e wed g7 1

What is an ecosystem ?

4. S foma 15 cm WishE gl o I SUVT & HHA 30 om g W A 7 |
TYUT G o Hfciferesl o TR AT T Ioei@ i | 2

An object is placed at a distance of 30 c¢cm in front of a convex
mirror of focal length 15 cm. Write four characteristics of the

image formed by the mirror.

5. GO Jered 91 € 7 39N Sl QA< Shl ol § ogal I JET

AT ? 2
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What is sustainable management ? Why is reuse considered better

in comparison to recycle ?

6. I Td 9 Sftae THTEAT T T8 AT AUl e 2 | i 7 his
31 ST SIFTT | 2

Management of forest and wild life resources is a very challenging

task. Why ? Give any two reasons.

7. < e AR X Y % 19 G FHI: C4Hg W CsHy, B 130 E
Terareht weher stfurforan qwiia <t iferes darrerT 21 wehdt © 7 3799 I h
gfe ST | 30 s § e siffsrn i afsen Y e % foe
T FHteRT off € | 3

Two carbon compounds X and Y have the molecular formula

C4Hg and Cs5H;, respectively. Which one of these is most likely

to show addition reaction ? Justify your answer. Also give the
chemical equation to explain the process of addition reaction in this

case.

8. = e o vemafes TefieRT bt g i - 3
(1) CH3COOC2H5 +NaOH——
(i) CH3COOH+NaOH——>

(iii) C,HsOH+CH3COOH — 212504
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Complete the following chemical equations :
(1) CH3COOC2H5 +NaOH——
(1) CH3COOH+NaOH——

(iii) C,HsOH+CH;COOH o804

9. Mk TTad TRelt % FHed Tardi o afast dfwat o A fafaw | foreh
Fed T H W ¥ A9 T W dcdl o dTfedsn Aaegor § wm aiEdd
Trar 27 foreft Aifest dfth & i o) & SRff o S W v = &
TTEs § 1 IREd ST ® 7 SUURH 1 JoRT o Il o g8 H R
A | 3

Write the names given to the vertical columns and horizontal rows
in the Modern Periodic Table. How does the metallic character of
elements vary on moving down a vertical column ? How does the
size of atomic radius vary on moving left to right in a horizontal
row ? Give reason in support of your answer in the above two

Cascs.

10. S dcd P (W] &A1 20) foRet 31 dc@ Q (U] TE&A 17) W
HAffshaT ek ohls AMTeR SHTaT © | il faT 71T SeAl 31 SRl |ied 3T
difsr
Mg Tad wwolt § P 3R Q i feurfad, qem P iR Q & sAfafsman
I & AMfiTeh w1 30— foaifaw | 3
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An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

11. 1 EE, 534 - 3
(a) TN HIS IFRT 3 AW H he ST 8 7
(b) FIfHeT < Uit Tied ger W iR ST 2 7
(c) iaed B Tgermey i shmoper (eifmT) e ST R ?

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(c) On maturation sporangia of Rhizopus bursts ?

12. ifireh S il gt SATEwIRAT T IgW T | Thfd & 59 TR & 4
1 HEed fofrad | 3

State the basic requirement for sexual reproduction ? Write the

importance of such reproductions in nature.
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13. 9T | B o1 IEd-l T 3 ohifST i : 3
(a) YU TG (STRTUQ) & ST € |
(b) HTET I / HUE 1 A= T 2 |
State the changes that take place in the uterus when :

(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

14. YT H TH-Th A Id FC INq 3R AT A& o o=l
aTfetent o €9 | fawed i | 3

Distinguish between the acquired traits and the inherited traits in

tabular form, giving one example for each.

15. foret 3aTetor i HwEwaT § =me it ok fefafaa § @ e g
SRR ST o forehTe o qe3 H HT0T SEqd SR | - 3
(a) TESTQ AT
(b) TwET (W) ST
(c) Shamem

Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs

(b) Analogous organs

(c) Fossils
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16. &% 4 cm =g & fora foRe 10 cm ®ikE g & adw g0 &
A 15 cm g8 W e ? | gdur & ferelt ug ot fohat gt o T e o
39 R T o1 wom whifors umea &1 7 wfafora it = off afterfoa
hITSTT | 3

An object 4 cm in height, is placed at 15 cm 1n front of a concave
mirror of focal length 10 cm. At what distance from the mirror
should a screen be placed to obtain a sharp image of the object.

Calculate the height of the image.

17. demrst URRE o dR-€R g 8 qo foreectia ©iF & a=iioio § s
3 % HH hS - Iqd & 9T 8 | 39 - o1 90 feafan |
39 YR o ARhAl i 38 H GIR & ToTT a9k oiF & TRR H W
fafau | 59 <fa i T iR Frd it =men hifs | 3

Due to gradual weakening of ciliary muscles and diminishing
flexibility of the eye lens a certain defect of vision arises. Write the
name of this defect. Name the type of lens required by such persons
to improve the vision. Explain the structure and function of such a

lens.
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18. TR ‘gataer feaw’ W fomer it wra e T H S Wa SR
3Gkt weerer’ g W s & fau g mn 2 | 3
(a) TATSTOT o SIS o foTU SIS W <l GRaqT ot <hi ST =mfee ?
(b) TT foreet < 3wl <t gt SR ek fower & sregdeh 3TmIE ek
3T 79 fisll § SFEeRal 3cad il 3TR ST GiaXyl o d1g-a1d
AT 9T o EEI0T | +ff Ter el |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

19. WA 3R NI qET & TEUl % YRR | 3 aF ° = fafaw |
TTe <ht Tohrg fsea shi fora fafer foaRaw | |me e S/@1 & @ o
HIT T AT 7 AT o T W FEeTsiel 1 ITIN A o R Iead
T ATl TR a1 TS o 3gE ShifeTT | 5

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

10
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20. (a) WA T o 39 I I A TIRIT ST I[RT0[aTi ok FmTor o qrer-ne
T TIHMH 1 G0l FAT g | $Hoh G Gl SHM 1 A 3R
e feafae |

(b) WS HIET S a3 o 39 W b1 918 foTRae set = g @ |

(c) =TT hIfST foh AT o IR o offar forshfrd =rd yor &1 urwor ferm
TR BT 7 | 5

(a) Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

(b) Name the parts of the human female reproductive system where

fertilisation occurs.

(c) Explain how the developing embryo gets nourishment inside the

mother’s body.

21. el o TAN G € Tohd b Td g3 foh 5
(a) &0 YT} ST ST B & 7
(b) 3 &I T FIMFTA BT Toh-FH § T Tl @ ¢
How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) 1nheritance of two traits is independent of each other ?

11
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22. 3T < o YR § fora gl (u) o wny wfafers g (v) @ oo 0t
91 areft = & it Seqor arfersr o1 fargeryor ifste @it uferem foRe

form & forferfiaa sl & 3w @ifve - 5
e u (cm) v (cm)
1 -90 + 18
2 - 60 + 20
3 -30 + 30
4 -20 + 60
5 18 +90
6 10 +100

(a) 3T TIF ol BIRE g 1 © ¢ 37T I o 9&T H R0 ST |

(b) 3T U&7 sl A T forfay s w78 ® | I fswd smoe TR
TR THehRTe ?

(c) @13 off 3fa I TR Y& T 4 % T e TR o
e 37 3TaelT o1 T 7 1 hifere |

12
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Analyse the following observation table showing variation of
image distance (v) with object distance () in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 +18

2 - 60 +20

3 —-30 + 30

4 -20 + 60

5 - 18 + 90

6 -10 + 100

(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

13
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23. (a) I THRT0T ARG i AT LA TE 6 TR o) fRon R g
Sreh! o1 @ qaed o qgETd sl TR T T TR i © | U
31 TRt 1 gt SIS ST 3Tadct SUUT o YRt | qXrar o YT,
3 TouT & eIl o1 3@ hifNT | 31 ST fohon o1 39T, 3Terad
TUU o ¢gd IR BT o s fedra forelt foreer o6 wfaforar <t feufa,
TRTRT ToRtUT TG WieeR F1d ot § i |

(b) I A UV 9 T 20 cm U W feoa forelt forar w1 o=
T ST Sldfors 9a O ST & | 9al fore | forat g /g ? 5

(a) To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

(b) A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

24. (a) forae v it sre T s Eiee Fifs |

(b) forelt = o e @ TR W fad vad YehTer o sraFe} aul
Tepen o ®9 T 9k 1 81 9I1d 8, e iy ?

(c) SRUTY I ST ATHIfhRd foRuT 3T Tiereht g91Ts | 5

14
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(a) Draw aray diagram to explain the term angle of deviation.

(b) Why do the component colours of incident white light split into

a spectrum while passing through a glass prism, explain.

(c) Draw a labelled ray diagram to show the formation of a

rainbow.
q-7
(SECTION-B)
25. 39 U IR WEHAAA, A, B, C 3R D # Hu3: HIeIH FHame,
Hiferm Felige, 93 &1 aHt oK i foremw ot faemm w21 @ @
forg / for wAfort o watd o1 3u WEifew / wdATse v o TR
TieTuT o foTT AT IWIH 2 7 1

(a) I A
(b) A3MB
(c) B3R C
(d) A3RD

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) Aand B
(c) BandC
(d AandD

15
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26. SEANTSNET H AR ht ATk &l goiiv / FElia e & e o
3T & 1 f= faam T i &1 RIS ded 31feren 3uh W 7 1

(a) T T d N HKfcoTH TESIFTEE

(b) TUE T de AN hicHaH TESiTse

(c) ARAH &1 a1 R Afeam erEgimnss

(d) Tl F d IR WA TESIFaTES

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most
suitable ?

(a) Mustard oil and calcium hydroxide

(b) Castor oil and calcium hydroxide

(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

27. TFEt B 9 IR EHeEt P, Q, R 3 S off 3R yeds 4 &9 8 mL
A ST W | T 38+ T@eft P H Na,SOy, QF K,SO4, RH
CaSOy,, S ® MgSO, ! THH HEATE Hici | Teieh TWE-e! | 91 o
ot it TuT A feet 3R 38 et -TehR faeifed & o 38 =

AT B 9ATH W § S0 9T B, 98 e ol @ - 1
(a) P3R Q
(b) PR R
(c) P,Q3Mm S
(d Q,R3M S
16
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A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SOy4 in P, K,SO4 in Q, CaSOy4 in R and MgSOy4 in S. On
adding an equal amount of soap solution and shaking each test tube
well, a good amount of lather will be obtained in the test tubes :

(a) PandQ

(b) Pand R

(c) P,QandS

(d Q,RandS

28. = o SIST o YUT o1 Y&TUT id T fohell BT 4 = AU S1gaR o1
[ERERINCIR: ClRCEIHE
SSTarT, sfeuegR, sfievs, 31 shad, T, Jelie |
39 A I @R Regen weied 3 I8 fowuft 1, for 3 @ et 9 W
& HE 2 | 4 o |El WA SRl =R I 1

(a) SO, SSTTEoT, g

(b) SIS, ST, AT
(c) A, 37d:Fa=, AT

(d) et ShsvggR, St

17
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A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(¢) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

29. TfcRad # 9 THSITT 371 o GH= %l FHT: 1

(a) e IR faaett & @

(b) TGS HR Fe[R h T@

(c) T, sk 3R foushett o 3TUTE
(d) Taach 3R =mes & 1d@

Select the set of homologous organs from the following :

(a) Wings of pigeon and a butterfly
(b) Wings of bat and a pigeon
(c) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

18
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30. @ BE A, B 3R C 7 foreft gy wam 1 s1aae U il gerdt | U6
T Hihiad 5 | stada gdur it wrwd gt Fuffa w0 & faw s=h
frfafaa gt ard -

BE A : TUU Y UG q hl

BT B : Wa 9 9¢ %k ol QU

B C : I 9 U T 1 gt

Tl BIhE g A9 STt /3T BT 8 /3 - 1
(a) Fad A

(b) Fad B

(c) ASRB

(d) B3R C

Three students A, B and C focussed a distant building on a screen

with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) BandC

19
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31. Ife @19 3ua | g el qrey foma, foeeht anefa a0 G R, &

yfcrfersl ol 98 9T wlehibd od B,

1
a1 us W 39 forer o wfdfersr <t emepfa 2t : 1
@ B e o = @

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this object on the screen would be :

+ . o i 9
@ O] ©F (@ —

20
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32. = feu v sm@ § w ifera wv R -

(a) LAIR Le

(b) Li,Z A LD
() LA, Lr3R Le
d) LA, Zr3 £D

In the following diagram the correctly marked angles are :

(a) LAandZLe
(b) Li,ZAand £ D
(c) LA, Lrand Le

d LA, Lrand LD

21
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33. = feu U M@ § STuas wivn, frid wion, SA9eds i 9o difvaes
foreeno =t 3Rl 1, 2, 3, 3R 4 g0 T 0 | fohm JehR gwiian e e 7

(@ 2,4,1,3

(b) 2,1,4,3

(c) 1,2,4,3
d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,
angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2, 3 and 4 is :

21
AN
r\
(a) 2,4,1,3
(b 2,1,4,3
(c) 1,2,4,3
(d 2,1,3,4
22
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34. S A TRt TEe! T IfSan BEIS HEHe o UISel s 399
Uifeeh o1 STed &, A i 2 i Jeseree o ary s g e 2 |
39 719 1 919 fARaT 3T 39 wiegur o1 9o i St 39 719 i 98aH
H g Far e | 2

A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

35. 3 il S o TR i AW gy fSaH Tk SHe HiflReh §
Tafd hIfeRIaT st fFmior grar 8 TR S HIfmeh w1 Afica T &
STAT ® | 39 TAH =1 1 IgW hIFST S8 50 T o ST ol 3T

BIdT & | 39 ST o U8 &1 =0T oh 3TRg Eifeu | 2

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

36. WIS BT 10 cm HIhE G H1 I I Tioht HIHeIT hl ST i oid
TTHT 60 cm G W WAl 7 3 SaTer o Jfdfers s 96 W Blehfad
AT 2 | THeh UTTq 98 Sarell ol efi-¢f e it T geeprar S ®
3R T IR wfaferat it 98 T wishfad off Far 2 | 2

23
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(a) ATl & Yfesl ol Bt S & U 98 Ue ol fohd TR Eahan
B- U A AT AT A G 7

(b) ferferest = @Tgst 8 o gierd gran & 7

(c) SaTell sl oF & ke @ W wfdfsrs it dfigar § =« gied gan
37

(d) < @ T feRat g8 TR SATET i T T 3T G A1gs 6T 3ol
yferfora ST ?

A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

24
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